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Part I: Circle the correct answeer
1. Thestudent body of a large university consists of 64% female students. 4
/ random sample of 8 stadents is selected. What is the probability that among the

students in the sample at least 7 are female? (% ) £
(ay 0.1064 - ; 7
B ome wea e L) 6
e 0.0168 ey
d_-0.8934
2. The foliowing represents-the probability distribution for the daily demand of
microcomputers at a Jocal store. .
Demand Probability ~
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The expected daily demand is A\
a. 1.0

- @ 22
c. 2, since it has the highest probability
d. of course 4, since it is the largest demand level
3. Anexperiment consists of making 80 telephone calls in order to sell a particuiar
insurance pelicy. We are interested in the number of insurance policies-sald, the
random variable in this tiperiment isa
(& discrete random variable BN /
b. continuous random variable Hﬁu"""}
c. complex random variable
d. simplex random variable
. 4. Which.of the following statements about a discrete random variable and its
probability distribution aretrue?
z. Values of the random variable can never be negative
b. Some nepative values of f{(x) are allowed as long as £f(x) = 1.
€} Values of f(3) must be greater than or-equal to zero.—
d. The values of f(%) increase to a maximum point and then decreas:
{5, 0 and 7)The assembly time for 2 product is uniformly distributed between 610 10

minutes.
5. The probability density function has what value in the interval between 6 and §07?
@& 0.25 0 - { — A
L b. 4.00 T T
. {0~ 6 -
c. 5.00
d. zero

6. The probability of assembling the product in 7 minutes or more is

a. 0.25
'j;‘-%? o- ) < ‘fi’

@ 0.75 .-
/ c. Zero
d. 1
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7. The standard deviation of assembly time (in minutes) is approximately

a, 1.3333 - _ £+ _
T L e e
c

0.1111 2_(b-AY _Qo~e) . ic
d. 0.5773 R

8. The key differencebetween the binomial and hypergeomeiric distribution is that

, with the hypergeomeitric distribution
/< a.  the probability of success must be fess than 0.5

b. the trials are.ndependent of each other
c. thetandom variable is.continuous: .
@ the probability of success changes from trial to trial
9. A professor-receives, on average, 24.7 e-mails from students the day before the
midierm exam. To compute the probabilify of receiving at least 10 e-mails on
such &-day, he willuse what type of probability distribution?
a. Binomial distribution.
b. Hypergeometric distribution. :
Exponential distribution i
Poisson distribution. :
10./At & computer nmanufacturing company, the actual size of computer chips is
normally distributed with a mean of | centimeter and a standard deviation of 0.1
centimeter. A random samnle nf 12 computer chips is taken. What is the standard

error for the sample mean? =
a. 0.050 Ly o
b. 0.091 Ziakar
c. 0,120
0.02%

Major league baseball salaries averaged $1.5 million with a standard deviation of -
$0.8 miliion in 1994. Suppose a sample of 100 major league players was taken.
Find the approximate probability that the average selary of the 100 players
exceeded $1 million.

Approximately 1 s
(}? 0-12257 3 = =< > 3@ -
c. 0.7357 s D 3 3
d. Approximately 1 - %5t ‘

12, For air travelers, one of the biggest complaints is of tha wau:m g time between
when the airplane taxis away from the terminal until tr. flight takes off. This
waiting time is known to have a skewed-right distribution with & mean of 10
minutes and a standard deviation of & minutes. Suppose 100 flights have been
randomly sampled. Describe the sampling distribution of the mean waiting time
between when the airplane taxis away from the terminal until the flight takes off
for these 100 flights.

a. Distribution is skewed- right with mean = lO minutes and standard error =
0.8 minutes.

b. Distribution is skewed-right with mean = 10 minutes and standard error =
8 minutes.

c. Distribution is approximately normal with mean = 10 minutes and
standard error = § minutes.

d) Distribution is approximately normal with mean = 10 minutes and
standard error = 0. 8 minutes.
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13. What.type of probability distribution will the consulting firm most likely employ
to analyze the insurance claims in the following problem?
An insurance company has called_a consulting firm to determine if the
company has an-unusuatly high number of false insurance claims. It is known
-that the industry proportion.for false claintsis 3%. The consulting firm has
ecided to randomly and independently sample 100 of the company’s
inswrance claims. They believe the number out of these 100 that are faise will
yield the information the company desires.
a. Poisson distribution.
‘b. Hypergeomeitric distribution.
& Binomial distribution.
d. None of the above.
14. The Tfollowing data was collected from a simple random sample of a population

13 15 14 16 12
The point estimate of the population mean

a. cannot be determined, cince the population size is unknown
@ is14

c. is4

d iss

15. Four hundred people were asked whether gunaws should be more stringent.
Three hundred said "yes," and 100 said "no." The point estimate of the proportion
in the population who will respond “yes" is

a. 300
b. approximately 300
& 0.75

d. 025
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